Habitat Loss Game

Age and Course:  Grade: 9 – Environmental Science

Objective: to demonstrate the need for habitat preservation for the benefit of threatened and endangered species.

Characters:


Female Northern Spotted Owl – 1 


Male Northern Spotted Owl – 2 


Old Growth Redwood Trees without nesting holes – 4 


Old Growth Redwood Trees with Nesting holes – 2 


New Growth Redwood Trees – 3 


Logger – 1 


Tree Hugger – 1 


Rodents – 5-7 

Background:  The Northern Spotted Owl nests in cavities within old growth redwood trees in the Pacific Northwest of the United States.  Younger redwood trees do not have the type of nesting holes or mature ecosystem that old growth redwoods do.  Old growth redwood trees are prized by lumber companies because of the amount and quality of lumber that can be harvested from the trees.  Lumber companies will cut down younger trees if no old growth are available or if the old growth are protected.  Spotted owls primarily eat rodents to survive.

Mission:

1. Assign the roles of male Owls to two students.  Give them identity chips of white paper with spots.

2. Assign the role of female Owl to one student.  Give him/her an identity chip of yellow paper with spots.

3. Assign the roles of Old Growth Redwood Trees without Nesting holes to four students.  Give them identity chips of red paper

4. Assign the roles of Old Growth Redwood Trees with Nesting holes to two students.  Give them identity chips of red paper with a large circle on them.

5. Assign the roles of New Growth Redwood Trees to three students.  Give them identity chips of green paper.

6. Assign the role of Logger to one student.  Give him/her an identity chip of blue paper

7. Assign the role of Tree Hugger to one student.  Give him/her an identity chip of multi colored paper

8. Assign the role of Rodent to four or five students.  Give them identity chips of brown paper.

9. The Owls must now attempt to pair up.  The males must locate the female and win her over with mating displays.  The female has the right to refuse either or both males if they are unsuitable.

10. When the mating pair is bonded, they begin searching for a nesting Tree.  They must inspect each Tree they locate to determine its suitability.  Suitable Trees will have red paper ID chips with a large circle.

11. The Owls must hunt and kill at least one Rodent each to survive.  The role of rodent may be reassigned to maintain population of rodents.

12. The Logger may cut down any tree, but only one Tree every five minutes.  Red ID chips collected from logging will be worth more than green ID chips.

13. The tree hugger may identify any tree and attempt to prevent the Logger from cutting it down.  The Tree Hugger may only protect one tree at a time.

14. If the nesting pair of Owls locates a suitable tree, they must stay by the tree and continue hunting to feed their brood.  The unmated Owl must also continue hunting.

15. All players must make their identity chips difficult to see and reveal them when asked by another player.  If owls encounter rodents, the rodent may try to escape.  Trees encountered by the Logger are done for unless protected by the Tree Hugger

Analysis and conclusions:

Did any of the Owls hook up?

How long did it require to locate a suitable Tree for the Owls to nest in?

How many suitable Trees were available by the time the owls were ready to nest?

Was there adequate food for the Owls?

Was the Tree Hugger successful at protecting a Tree suitable for the Owls?

How successful was the Logger?

Was it easy for the Owls to survive and make a new generation of owls?

Extensions:

Students can make a journal entry describing the experience and how similar situations may apply to their own ecosystem.

Students can research habitat loss in another ecosystem and create a presentation (Powerpoint, movie, documentary) highlighting the effects of habitat loss other organisms.

